
　

日にち：　　月　　日

名まえ

・ 54 － 9 の 計算を しましょう。

① 5 4 は 4 0 と 1 4
5 4 － 9

54 40 14

5

③ 4 0 と 5 で

② 1 4 － 9 ＝

45

・ 71 － 8 の 計算を しましょう。

① 7 1 は 6 0 と 1 1
7 1 － 8

71 60 11

3

③ 6 0 と で

② 1 1 － 8 ＝

63

・ 62 － 5 の 計算を しましょう。

① 6 2 は と
6 2 － 5

62 50 12

57

③ と で

② 1 2 － 5 ＝

② 確認

2

(うすい字はなぞりましょう。)

40 14

11

答え

答え

答え答え



　

と 1 4

日にち：　　月　　日

名まえ

・ 54 － 9 の 計算を しましょう。

① 5 4 は 4 0

5

③ 4 0 と 5 で

② 1 4 － 9 ＝

1 1
7 1 － 8

4 5

・ 71 － 8 の 計算を しましょう。

① 7 1 は 6 0 と

3

③ 6 0 と 3 で

② 1 1 － 8 ＝

6 2 － 5
12

6 3

・ 62 － 5 の 計算を しましょう。

① 6 2 は 5 0 と

で

② 1 2 － 5 ＝

1 2

57

9－45

62 50

5 7

144054

45

71 60 11

63

7

③ 5 0 と 7

② 確認 答え

2

(うすい字はなぞりましょう。)

40 14

60 11

50 12

答え

答え

答え答え


